R3O0 — o o L Y — 11H)

B | @ ¥ B 7 F 2Rl 58| w= |a|m 12ADFTEFE
1 |k |Faex@ szant-0) 4|0 13*?15 ;’;ﬂﬁ;ﬁ
/e A

=EFE@EBM(IF)
BRI (1. 24F)

5 |A 60,50 5 |k

By ety 6 [0 15:50 6 |*

7 |5k 60,50 7 |& BAZEARLE
8 |k|ehnTzr. EHBER 60,50

o |&|mEnersena ammns) 5|0, .20 | 2|

X |s|E-BHR
©) K
13|k |FES>Z(2—1, 15£) 6 |O| s ou0 o | 13| & [mA=mS
14|k 6 [O] (o0 || 14| 2
15|k |Mx72r1EE. mASSE 5|0 |
#kTRF2B B o

EfE2EMNE

18| K
19| A |2 o2 e 6 19 |k |xsmm
20| K |[FEESFUR(2—2) 6 20| K [BREXAE
&

4 13:10 1 wmigix
26| A AT RS 5 @) =|=1134_-1255 EB L
A
X YZR(1.2
27| X |[FEEF R ) @) 15:30
A
28 (7K 6 [O]45.30
A
29| K 6O 15:30
30| & 6|o] A




